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OAZ A S & 49, 222 NN 3,000
OYUXI 2 (NI SAF XHE)
600,000 »7H 4,200
301 YptE A 10,500 10,500 0
09 #HALAHIZ &S 10,500 10,500 0
OZOMCIIIstHa &HItE & 100,000& »20H 2,000
OZMY gsZ=A HFAZ4 100,000 x20H 2,000
OAZTZOHR HNATHEAIHZ AS
150,000 =10 1,500
OIS IIME EFotE4 50,000& »20H 1,000
OEXEOI2 & A A4 50,000 *30H 1,500
OAESALA ZOH=XNAESE 0=
50,000& x50H 2,500
307 glz2+ol & 54,500 54,500 0
04 BIZHHAIE RS 23,500 23,500 0
O&OLIe & &AL 20,000
OXofel stz 50,000& 70X 3,500
10 A3l S X2 = 31,000 31,000 0
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2,000,000& =23l 4,000
OXOHe HATE L NHEBWS(1HA) 9,000
STHMY =S8 N8 29 24,000 18,000 6,000
201 €24l 24,000 18,000 6,000
01 At 22l 24,000 18,000 6,000
Osiza == 0188
300,000& #4223 x10& 24,000
ZOHQ BMOAENBHE 2 45,000 49,755 £ 4,755
< 13,500
s 31,500
307 gl2tol & 45,000 49,755 A4, 755
< 13,500
[ia 31,500
10 AtEI =S X2 X 45,000 49,755 N4,755
QX0 HOYAILXZHAH SF(1HLA) 45,000
< 13,500
[ia 31,500
SOl HoIAIAE FHI 33,800 33,800 0
201 Let24E] 3,800 3,800 0
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OHM BoYANE EE2= & =Y MH
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OHMEYANLEE oG 3,000
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HESG = MEEH S 10,000 10,000 0
201 et 10,000 10,000 0
01 At 22l ] 10,000 10,000 0
Oos4+42 o I HME 10,000
SOl F=HEA WA 48,000 46,800 1,200
= 19,000
& 12,500
= 16,500
SSHOM =HSHMNH 10,000 5,000 5,000
& 3,000
= 7,000
402 QI2b X2 0| & 10,000 5,000 5,000
o= 3,000
= 7,000
01 812t X 10,000 5,000 5,000
OZZZMQ =HEE HEL(2MA) 10,000
& 3,000
= 7,000
SHE HOHQ FEHIH=XZ 38,000 41,800 A 3,800
= 19,000
== 9,500
= 9,500
402 SI2FXHE0| M 38,000 41,800 A 3,800
= 19,000
= 9,500
= 9,500
01 QI2tXE2 X 38,000 41,800 A 3,800
Os0HE ZO0HQ =& X
3,800, 000& *10Al CH 38,000
= 19,000
== 9,500
= 9,500
ool L Xtel H= 352,070 295,503 56,567
= 134,224
= 83,923
= 133,923
HEEMO SAXMNAE 29 X3 52,000 72,000 A 20,000
< 6,000
= 46,000
307 2Iz2t0| A 32,000 72,000 A 40,000
= 6,000
= 26,000
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16,454
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202,632

202,632
101,316
50,658
50,658

144,560

58,072

M H

21,622

10,811
10,811

24,000

N2,378

EURLY

21,622

10,811
10,811

24,000

N2,378

EUNE

21,622
21,622

10,811
10,811
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10,000
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2,700
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OXF=el 500, 000& =2l CH 1,000
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Oz aeltl 100, 000& = 10All CH 1,000

M EUNL
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Sl a=x S CEEEED
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SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
HAEEX & 65,268 55,954 9,314
= 1,884
J| 3,600
& 15,800
= 43,984
SO0 - A =ZEE 2& XN 5,000 5,000 0
&< 1,500
= 3,500
307 2iz2tol & 5,000 5,000 0
& 1,500
= 3,500
10 Ml S X EX 5,000 5,000 0
OMOH. =" 28 X (1MHA) 5,000
o= 1,500
= 3,500
DIZ2EAEA 2H 40,000 30,000 10,000
& 9,000
= 31,000
307 QI2t0| & 40,000 30,000 10,000
= 9,000
= 31,000
10 Al S X2 X 40,000 30,000 10,000
QUIZAEADJIEZSANSA) 2 40,000
& 9,000
= 31,000
e - 428 ol 2,300 1,700 600
201 gBt2Ay| 2,000 1,400 600
03 HAI2 G HI 2,000 1,400 600
O W H3 2,428 H0Ii0H ¥ dHSIS
800,000& *x23] 1,600
OHEIZ0Y % FHFSDSE 2E2Y
200,000& 23] 400
301 et A= 300 300 0
01 A& A 252 300 300 0
OREBsHAHE A% HE OH] 30,000& 10 300
HE=XAIE SAX XA 5,200 5,200 0
& 2,600
= 2,600
307 2iz2tol & 5,200 5,200 0
= 2,600
= 2,600
10 Ml S X EX 5,200 5,200 0
OJAHEXSE 200,000 x2H x12& 4,800
=} 2,400
= 2,400
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